Typical Exam 


Multiple Torts


	1. Which require a discussion?


	2. Who is the P and who is the D?


For each tort, set out prima facie requirements of that case.


Has P set up the requirements?  If No, then there is no 	suit, P loses.  If Yes, then move on...to…


Defenses


	3. General Consideration Items


-	Vicarious liability (Whether the department store can be held liable when the truck driver/employee gets into a car accident).


	4. Joint Tortfeasor Issues





Intentional Tort Liability


1. Deal with P as if he is an average person.  Do not take into account his supersensitivities unless the D knows of those supersensitivities.


2. Everybody is liable for an intentional tort!  Mental Patient and 6 year old included.





7 Torts


Cause and Intent are not big issues, the big deal is the act.





Battery


A. Harmful or offensive contact


	-	Harmful is obvious


-	What is offensive?  The word unpermitted is the same as


offensive.


Example: Someone taps you on the soldier to find the can.  Doesn’t work.  The average person would have permitted the tap.  Supersensitive person loses.


B. With P’s person


-	Do not actually have to touch the body. (Guy standing in line holding a plate and the D grabbed it out of his hand.).


	-	Would also work if it was a car accident.





Assault


1. Apprehension 


	-	Must be reasonable to the average person.


	-	Apprehension is not to be confused with fear or intimidation.


-	Ex:  P is Mike Tyson.  Little girl walks up to him and says, “I’m gonna kick your ass!” and takes a swing...Tyson would win, all you need is a reasonable apprehension of immediate offensive contact.  Tyson need not be intimidated.


	-	Apparent ability will create a reasonable apprehension.


-	This tort is all about reasonable apprehension.  If someone is pointing an unloaded gun at you, this would count. So long as you did not know that the gun was unloaded.


	-	“D’s apparent ability did create a reasonable apprehension” - 			exam hint.


2. Of an immediate battery


	-	Words alone are not enough.


-	“If you don’t give me a job, I’ll punch you!”  Doesn’t work, words need to be coupled with conduct.


-	If Joe walks up to me and says, “If you weren’t my best friend, I’d kill you.”  The conduct is there, but the words undo the conduct.  No tort.





False Imprisonment


1. Need a sufficient act of restraint.


	-	Threats are enough.


-	Inaction is enough.  Doing nothing at all can constitute a restraint. (women on the boat and the captain didn’t give her a boat).


-	In order to conclude that inaction is enough, there must have been an understanding that the D agreed to do something.


-	Irrelevant how short the time period of restraint is, even a short period can qualify.


2. Bounded Area


-	Freedom of movement is limited.


-	Ex:  When you walk down the street and have to walk around a barricade, that is not enough.


-	Ex: Barricade is at the same place, but you have to go 20 miles out of your way.  That would qualify because it is a huge inconvenience.


-	An area is not bounded if there is a reasonable means of escape that the P knows of.  If the escape is a rat infested sewage pipe, the average P doesn’t have to use it.


	-	P must KNOW of the escape, cannot be a trap door.





Intentional Infliction of Emotional Distress


Prima Facie Case


1. Outrageous conduct


-	Not something you have to live with everyday.  Has to be truly outrageous.  


-	If I walk up to you and insult you, won’t be a good case.  Would lead to way too many lawsuits.


	-	When the insulting language is outrageous:


		1. It is continuous. Day after day all day long.


		2. Very young child, very young person, pregnant woman.


		3. Supersensitive adult when the D knew of supersensitivities


	-	Common carriers/innkeepers


-	If the bus driver insults you it is very different.  The D has changed and this D is held to a much higher standard. Be careful, it must be the right kind of P.  He can say Fuck you to a passenger and lose a suit, but if he gives the finger to a truck driver, truck driver will lose.


-	The guy who walks up to you and says, I am gonna punch you in the mouth, this may count.  MAYBE.


2. Damage


For IIED there is a damage requirement unlike, Ass, Bat, and FI.


-	Must have a clear showing of ED.  Need substantial distress.


-	The more outrageous the conduct, the less you need in damages.


-	It was adopted by the court as a fall back tort if you couldn’t make out the PF cases for the other intentional torts.





Trespass to Land


1. Requires that the D physically invades the P’s land.


-	He doesn’t have to personally go on the land.  He can push someone else on the land.  Some physical object must go onto the land though.  A rock, someone else’s body.  Loud noises would not count. (that is nuisance).


2. Concept of Land.


-	Included a reasonable distance going up and down from the surface.


-	The kid who throws a baseball across the yard, but doesn’t touch the surface, would still count.





Trespass to Chattel/Conversion


-	If there was some damage, t to C.  If a lot of damage, then Conversion.


-	When I scratch he leather on your briefcase, its t to C.  when I destroy it, it is conversion.





Defenses





Consent


1. Determine that P had capacity.  No capacity, no consent.


2. Is the consent express or implied.


	a. Express - words were used.


		-	But consent doesn’t work is he was coerced into it.


	b. Implied - Apparent implied consent.


		1.	By custom and usage


Ex: When the football player gets hit on the field, he can not sue for battery.  Unless of course, the player kicks the guy in the nuts after the play is over.  This would exceed the boundaries of consent.


		2. 	Or by P’s conduct.





Self Defense


Three step approach


1. Timing requirement must be satisfied.


-	You have to show that that tort is happening right now, or any second now.  Can’t be past tense.


-	When I punch Joe in the face.  Joe can not get up off the ground and hit me back, that is retaliation.


-	The hot pursuit doctrine:  If you are in hot pursuit of someone who took your car, you are still under the time requirement and you are ok.


The test for particular defense:


2. Self Defense


-	You just need to reasonable believe that the tort is being committed upon you.


-	Duty to retreat rule?  In this country, there is none.


2. Defense of Others 


- 	Reasonable belief is not enough, you have to be RIGHT.


2. Defense of Prop 


- 	Reasonable belief is enough.


3. Boundaries test:


	-	You exceed the boundaries by using too much force.


	-	2 Rules:


-	For Self and D of O, you can use reasonable force.  If someone is trying you kill you, you can shoot back to protect yourself.


-	For D of Prop, you can also use reasonable force, but can NEVER use serious bodily force.





Necessity (last defense)


-	Defense only used when the tort is a property tort.  


-	If what you are doing benefits a lot of people, it is a public necessity.


-	When you are doing what you are doing benefits a small number of people, it is private necessity.  When the guy ties his boat up on the dock in the storm.  He has the privilege of private necessity, but will be liable for actual damage costs.


-	When the landowner sees the boat owner coming, and pushes him off the property and back into the storm:  D of P collides with necessity.  Necessity is the winner.  Property is much less important.





Negligence


Prima Facie Case


1. Duty


	A. Foreseeable P


	-	Duties of care are only owed to foreseeable P’s.


-	When you drive down the street and hit someone, obviously foreseeable P.


		-	Palsgraf:


-	When the fireworks explode and it injures Mrs. Palsgraf.  You are going to have negligence.  The railroad and employees owe the guy a duty of care.  Is the other person (Mrs. P) owed a duty of care?  Depends on whether you follow Andrews or Cardozo.  You need to give both in the answer.


-	Majority is Cardozo:  Whether or not P was within foreseeable zone of danger of the negligent conduct.  If so, then it’s foreseeable.


-	Minority is Andrews:  It is negligence if one person is injured, then the 2nd person is foreseeable.  In an Andrews’s court, almost always the 2nd person is a foreseeable P.  It would have to be an absurd chain of events for the 2nd person not to be foreseeable.


	B. Standard of Care


		-	What is the duty owed this foreseeable P?


		-	Reasonable person, doctor, professionals, etc.


		-	Which standard of care applies?


			1. Reasonable person standard - Objective test standard.


-	Invent a hypothetical average person.  IQ level of 100.  At trial, evaluating the D’s conduct, we do NOT look at their traits and characteristics.  It’s measured against the hypothetical person.  Just because the D is stupid, will not get him off the hook.  You are expected to act as the 100 IQ person.


-	The one exception is physical characteristics.  Such as disabilities.  Blind, lame, handicapped.  Tot he extent of the disability, the person is supposed to act as another person with the same disability.  Disability is taken into account, but may not get the person off the hook.


			2. Children


-	Children under 4 are incapable of a negligent act. (They are still liable for the intentional torts)


-	Average reasonable kid standard - Like Age, Intelligence, and Experience.  So, if the kid is dumb, his dumbness is weighed against other dumb kids.  This is a SUBJECTIVE test, and D’s traits ARE looked at.


-	When the kid is engaged in an adult activity, he is held to the adult, objective test.


			3. Professionals


-	Reasonable professional in the same or similar communities.


-	If the professional is a heart specialist, we will expect more from him than a general practitioner.


			4. Common Carriers/Innkeepers


-	Much higher standard of care.  Can be held liable for even slight negligence.


-	Ex; Collision in an intersection between a bus and a car.  P1 is a passenger, P2 is the car driver.  P1 gets the common carrier standard, P2 gets only reasonable person test.


			5. Owners/Occupiers of Land


				a. Make sure that the D is the owner/occupier.


-	Family members, and employees are in privity.


-	Guy crosses land and is negligent hit by a truck driver.  Guy sues truck driver and landowner at location.  Landowner wouldn’t count, not in privity.


				b. Did the injury occur on or off the land?


-	Most of the time (90%) it’s on the land.


-	Is the P an undiscovered trespasser?  If so, there is no liability.  No duty owed the trespasser, and no standard of care.  P loses.


-	If P is anyone else:  Was the injury caused by an activity or dangerous condition?  Running a machine, playing baseball is an activity.  Dangerous condition is a defect in the wall, a whole in the ground etc.


a. 	If it’s an activity:  Standard of care is reasonable person.  Tres, Lice, Invite doesn’t matter.  It’s an ordinary negligence case.


b. 	If it’s a dangerous condition: The type of P does control the standard of care.


Owner/occupier is responsible differently to each type of P.	


Trespasser - An artificial 


condition involving “serious injury, owner knows of”, owner is liable.  Something a person put there.  (a fence, building).


Licensees - Someone that


comes on property for a reason of his/her own.  Salesman, etc.  Social guest are also licensees.  ALL Dangerous conditions the owner/occupier KNOWS of, he is liable for.


Invitee - Someone there 


because Owner wants him there.  Dangerous conditions that the owner SHOULD know of, he will be liable for.  Was a reasonable inspection of the premises made?


		2 Ways to discharge duty:


					1. To make it safe. 


		2. An adequate warning was given.


		


-	In most states, there is no liability for very obvious dangerous conditions.





			6. Statutory Standard of Care


-	If there is a statutory standard in your facts, it applies over the reasonable person standard.


			-	2 Part test:


				1. P must fall within protected class.


				2. Must be designed to prevent this kind of harm.


					-	If there’s a statute that protects 								elevator shafts, D is guilty if someone 							falls down the shaft.


					-	“No Marijuana”


-	Gas leak in woman’s apartment.  Comes home, lights up a spliffy.  House blows up.  Doesn’t count.  That’s not what the statue was intended to do.  But make sure that you say that it doesn’t apply.


-	If it does apply, you have negligence per se.


Ex: John is out at a party.  Gets bombed.  Drives home runs lights, wrong side of road, etc.  Obvious negligent conduct.  But, it never caused any damage, so it isn’t normal negligence.  


-	If a statute has been violated, it is a conclusive presumption of negligent conduct, but you still need damages.


Exception:  If compliance would be more dangerous you can break statue.  I.E. - when you drive on the wrong side of the road to avoid the fire engines.


Exception:  Blind man crossing the street against lights.  He gets away with it.





Negligent Infliction of Emotional Distress


2 test items:


	1. In order to recover, you must be able to show some physical injury.


		-	Shock would work.


-	Have to show more in damages rather than intentional because this is clearly unintentional.


	2. Target Zone Problem


		-	Mom sees kid get hit by car.


-	Majority says that you must be within target zone of the negligent conduct.


-	Under the modern trend, the target zone is objective.  As long as you are a close relative who perceived the injury you can recover.  Mom could here.


	-	Affirmative duty to act fact pattern:


-	2 cars are out on the road.  1st car heads on into a tree.  2nd one gets out, looks inside and sees the driver bleeding.  2nd guy says, ph well, and walks away and doesn’t call police.  The rule says there is NO DUTY TO ACT.  This obviously seems outrageous, but it’s the law.  Don’t fall for the trap.


		-	There are 2 exceptions:


1. 	Because the guy in the other car is a family member, he can’t just drive off.  The guy is an employee.  Common carriers/innkeepers.  IF someone gets hurt in your store, you have a duty to act.


			2. 	Impose a duty to control conduct of 3rd persons


a. 	You have a right and ability to control these persons.


b. 	You knew or should have known of the fact that should have gotten you to do something.


-	Parents were told that their 12 year old was beating up on other kids.  But didn’t do anything.  So, now they have an affirmative duty to act.


			





2. Breach


Negligent conduct = Breach


-	When D didn’t meet the standard of care, he breached.


-	Res Ipsa Loquitor Fact pattern


-	When you know there is an injury but can’t prove negligent conduct.  IT is a probability test.


1. 	You have to show that the breach would not have happened unless someone was negligent.


			2. 	That someone was probably this D right here.


			3. 	P must be free from contributory negligence.


Ex: Plane crashes.  When there is no explanation for the crash, you can’t show negligent, so you can rely on res ipsa.  Someone was probably negligent.


-	If you establish res ipsa, you can get it to the jury and you won’t lose the directed verdict.  Jury will address the issue.








3. Causation (actual and proximate)


-	Must handle AC first before you get to PC.  If you can’t find AC then the suit is thrown out.  If you do find AC, the it goes on to PC.





Actual Causation:


Did D cause the injury?


-	Use the but for test:  But for D’s conduct, would the P have been injured?


	-	If his conduct didn’t cause the injury, we let him go.


Ex: 	Guy drives down street and doesn’t turn on signal.  Weather conditions were foggy, like pea soup, couldn’t see more than 2 feet.  Not using the signal is negligent conduct.  But had he turned the signal on the accident would still have happened.  So the "but for" test does not work and the lawsuit is dismissed.


Alternative Test:  	Either there was causation or a strong probability of it.  Using the substantial factor alternative.  Two hot rodders drive down street, passing a horse and scaring it. Horse jumps and knocks the rider off.  But for test doesn’t quite work for both drivers.  If one had been there alone it would have happened.  But the substantial factor alternative works.  Each driver’s act was a substantial factor in causing the injury.


Alternative test: 	Summers v. Tice test.  2 guys negligently fire off their guns. P gets hit by one of 2 guns.  Can’t tell where the bullet came from.  Both D’s acted negligently.  But only one guy is responsible.  We don’t know who caused it and who didn’t.  Shift the burden of proof onto the D’s.  If they can’t establish where the bullet came from then both can be help liable.


-	Using either test above, you have to know that BOTH D’s were at fault.





Proximate Causation


-	True causation is ACTUAL causation.  P has already shown that there IS negligent conduct, either regularly or by res ipsa.  P has also shown that negligent conduct was caused by actual causation.  





Defn:  	PC is a way that the jury can let a negligent D who actually caused an injury OFF based on lack of forseeability.


		-	Direct and Indirect Cause


Direct:  	Uninterrupted chain of events between negligent act and injury.


Indirect:  	Where after the 1st negligent act, but before the injury, there is an intervening affirmative act of a 3rd person or an act of god.





2 Rules in PC


1. IF the result is unforeseeable, let the D go!  (no exceptions)


2. If the result is foreseeable, hold the D liable.


Exception:  In an indirect cause case, if the intervening act was an unforeseeable intentional tort or crime let the 1st D go, even though the result was foreseeable.


Example:  	Guy leaves keys in his rental car.  Unlocked door.  Someone steals the car.  Is the 1st guy held liable?  Well, these crimes (car theft) have happened a lot lately and it’s all over the news.  Obviously theft and conversion has happened, BUT this was totally foreseeable.  This putz left his keys in the car and it was in the news.  P will be held liable.


Footnote 1 - In direct cause cases, the result is foreseeable almost always.


Footnote 2 - The eggshell skull fact pattern:


-	You bump into someone negligently, and injury is foreseeable.  But it turns out that the guy has horrible bones and suffers horrendous injury.  You, as P, are liable for the total injury.  This is not an unforeseeable result case.  The rule is:  When talking about the forseeability of the result, you only have to foresee AN INJURY, not the extent of the injury.





4. Damages


Not heavily stressed.


-	When driving home, you hit someone’s car.  It’s an 87 Chevy, you have to pay for those repairs.  If you hit a 2000 Jaguar, you have to pay for those damages.





Defenses





Contributory Negligence, Comparative Fault and Assumption of the Risk


-	Must be able to distinguish between knowing Contributory Negligence and unknowing Contributory Negligence.  


1. 	“Knowing” CN fact pattern: Where one 1. sees the risk; and 2. voluntarily takes it on.


Ex: 	Joe sees a car speeding along.  Walks in front of it and gets hit.  He saw the risk and unreasonably took it on.


Footnote:  	Defense of A of R is equally available.  A two-part test must be satisfied:


				1. Knew of risk


		2. Voluntarily took it on.


2. 	“Unknowing” CN Fact Pattern:  P does see the risk and is just careless.


Ex:  	Joe sees the car.  But he is daydreaming on the street and gets hit.


-	Only with the knowing CN fact pattern, you have to write about A of R.  Under the unknowing you need not write about A of R.


-	In SL and defenses to it, you need to know difference between knowing and unknowing.





Distinctions between CN and Comparative Fault:


1. 	Any CN completely bars recovery in a CN state. (harsh result).


2. 	CN offsets the amount of recovery in a CF state.


3. 	In most CN states, there is no award if you were more negligent than the other party.


4. 	In Pure CN state, even the more negligent party can recover.





1. 	Ex:  A is 20% and B is 80% negligent.  


	-	A is suing B in a CN state.  A will recover 0. 


	-	In a CF state, A will still recover but at an offset.


	-	In CN if B sues A, B will recover nothing.


	-	In pure CN state, if B was suing A he could still recover.


2.	A of R is found in CN states and not in CF states.


3. 	Last Clear Chance Doctrine is found in CN states and not in CF states.


-	P will be forgiven his CN if D had the last clear chance.


-	Basically an escape device in a CN state.


-	If D really had the LCC, when jury gives out fault %, they will give the larger % to the D.


4. 	CN is not a good defense to reckless tortious conduct in a CN state.  It will be offset against the amount of the reward, even though the conduct was reckless.


Ex:  	In a CN state, the law says D is neg but so is P and P loses.  When the disparity is huge, P is minorly negligent and D is rotten and recklessly negligent, P can recover.  





Strict Liability


-	Liability without fault of the D.


-	Prima Facie Case:


	-	Same as negligence with one exception:


-	Need, breach, actual and prox, but the standard of care is different.


	Defenses:


Majority	- If what you have is knowing CN, that is a complete defense and will bar recovery.  If what you have is unknowing CN, that is no defense and P can recover.


- Most jurisdictions embrace CF but don’t carry it over to SL.


		Minority/Modern Trend


- CF gets applied just like any other CF case.


Ex: 	John buys a motorbike.  Comes with plenty of warnings.  One of the warnings says that you have to warm it up for at least 3 minutes.  He sees it, uses it after a minute and will be barred by CN.


Ex:	If he never saw the warning, well, its


CN because you should have read it over.  It’s unknowing CN, and you can recover, minus your CF.





Animals:


-	When your dig bites someone (domestic animal) he is allowed one free bite.  But if it is your pet crocodile, you will be negligent at the first bite.  This is an animal with dangerous propensities.


Hazardous Activities


-	Someone is “blasting.”  There is liability without fault.  You use SL because you cannot show that the D did anything wrong.


***When writing about SL, it has NOTHING to do with conduct.





Products Liability


-	PL is a tort designation encompassing lawsuits where someone sues a commercial supplier for a defective product.  You are suing the supplier for negligence like any other type of negligence.


1. Negligence as the theory:


-	In order to show negligent conduct, you have to key in on what it is.  Type of conduct is important.  4 basic types:


		1. Negligent Design (design defect)


		2. Negligent Manufacture (manufacturing defects)


		3. Negligent Warnings (failure to warn)


		4. Negligent Inspection


-	Who can be a P?  Anyone in the foreseeable zone of risk including bystanders.  If a car is made with a bad steering wheel, P can recover if he is on the street and gets hit.


-	Who can be a D?  Manufacturers almost always.  Retailers, wholesalers, almost never.  Unless the retailer is on notice of the defect and still sells the product.


2. SL as the theory


	-	This is liability without fault!


		-	Restatement formulation:


-	All you need is an unreasonably dangerous condition which caused the injury.


-	Who can be a P?  Same as in negligence.  Foreseeable dangers including bystanders.


-	Who can be D? Everyone.  Retailers, wholesalers, etc.  Above, we said that R’s and W’s couldn’t be held liable because they didn’t do anything wrong, but under S/L, they need not have done anything wrong, but can be held liable.


Footnote 1: 	Adequate warnings generally escape liability.


Footnote 2: 	If you can cure the defect for a minor amount of money relative to the risk, you should have cured it, and a warning will not save you. (B<PL).


Ex: 	Clothing that is flammable.  The warning will not help.  You should have stopped making the garments or made it inflammable.


Footnote 3:  	Where product use is incidental to performance of a service, SL theories do not work.


Ex: 	In an operation where blood is used in a transfusion.  SL theories are out, but you can always recover in negligence.  If there had been a negligent inspection of the blood.





Nuisance


-	Private Nuisance:  Involves with the interference of someone’s use and enjoyment of their land.  


	-	Objective test is used.


Ex:  	Joe’s neighbor has planted a beautiful rose garden.  But Joe is uncontrollably allergic to roses.  


Footnote 1	Note that in many nuisances courts will balance competing interests.


Footnote 2	You can come to the nuisance and sue.  Ex:  P brings D into court for nuisance.  D says, “hey, I’ve been doing this for years!, P just moved in.”  Tough shit for D, P can still sue.





General Considerations in All Torts Cases


1. 	Vicarious Liability - Liability not for your own fault, but for someone else’s.


2. 	Doctrine of Respondeat Superior - Employer’s are liable if their employee’s committed a tort within scope of employment.


3. 	Auto Owners - Not liable for torts of the drivers.


		Exceptions:


1. 	Family Car Doctrine: When immediate household members use the car without permission.


2. 	Permissive Use Doctrine:  If anyone is using with your permission.


		**Neither are majority


4. 	Parents and Kids - Parents are not liable for torts of their children.


Exceptions by statute:  	Imposes vicarious liability for intentional torts with a dollar amount attached.





Ex: 	You are home at night and someone knocks on door at 11pm.  It’s your buddy Charlie.  He’s bombed when he shows up.  And he came to borrow your car and you give him the keys.  But you tell him to be careful.  2 minutes later you hear the crash.  You will be held liable for this.  But you are liable for your own direct negligence.  You were negligent in letting him drive.  Period.  Nothing to do with car use in general.


5. Joint tortfeasors


-	Same tort, 2 or more defendants.


-	Release rule:  Used to be that if you released one joint tortfeasor would release the other(s).  Today, a release of a tortfeasor is NOT a release of the other tortfeasors, unless it is specifically stated in the release.


6. Joint and several Liability


-	If it comes down to it, each D is liable for the entire judgment.  If X does not have the funds, then Y has to pay the whole thing.


7. Contribution


-	What happens if, under J/S, one D can’t pay?


Ex:  	Both D’s are equally responsible.  A + B are 2 D’s equally responsible.  But A has to pay the whole 100K.  Under contribution, A can get the 50K from B.


